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Run examples for each injection and

2020-02-15_08-01-01

2020-03-29_15-48-35

channels

1 2020-04-10_00-11-59
T 10° T 10! T T
(R—Y e W'diT ) — chl
ch2 - Ch2 ch2
E—— ] Ch3 ——— ch3
cha — — e
s T chs —— «chs
Ch7 . ———— ch7 7
| 10°— —1 100 }— L,
I T i 10 i
HI | | T RN . }
i | D | 11 l I | ““] ,,,,,, T I 1 Tl
L [ [T "
: i 4
v I il i
1 |
111 )
10-1 10-1
200 400 1200 o 600 800 1000 1200 20 600 1200
2020-05-01_05-34-27 2020-05-20_15-25-24
10! T 10— T | T
———— ch1 ! [ ——len1 ]
ch2 ch2
——— 3 ch3
— chd cha
- chs chs
— th7 ch7
10° 10— —
1l
1 | |
” | | Il | [l Y I
' | AN Y U | OO 10T A
-1 -1
10 600 1200 10 0 200 400 600 1000 1200




Ratio = Quartz / noWindow
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Reminder

dAA Tra e tiTra
T(SCU‘!t@lZBnm) =K

Ti28 Tra

AX . Tra Trx (€7VTra — e~ t/TrX)
scint@150nm) = K
dt ( @ ) Tis50 Tax (Tra—Trx)

Tra Trx (€71/714 —e~t/T1X)

aXX
——(scint@175nm) = K
dt ( @ ) Txx Tax (Tra—Trx)

and

d(AX+XX) y TTa (e—l/TrA_e—tlrrx)
scint@150nm+178nm) = K
dt : @ ) Tax (Tra—Trx)

def modl(t,a,b,c,d,e,f,t1,t2,t3): # not all p:
return (a*(np.exp(-(t - t0)/tl1l)) +
b*(np.exp(-(t - t0)/t2)) +
c*(np.exp(-(t - t0)/t3)))

def mod2(t,a,b,c,d,e,f,t1,t2,t3): # not all p:
return (d*(np.exp(-(t - t0)/tl)) +
e*(np.exp(-(t - t0)/t2)) +
f*(np.exp(-(t - t0)/t3)))
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T I
(mid)y =0.15x + 1.79

(slow)y =0.07x + 0.68
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Dope4 after 2020-05-04(E180)
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The X-Arapuca without Quartz window (XN) will see the sum of the three
spectra, with the assumption that the three wavelengths are shifted with
similar quantum efficiency.

dXN
dt

(scint@128nm+ 150nm + 178nm)

t
Tpa @ TTA T, (@7HTTA = g tT1x)
- K( TA 3 TA

Ti28 TTta Tax (Tra—Trx)

The X-Arapuca with the Quartz window (XQ) will only be sensitive to the
third spectrum (the one from XeXe*)

XQ . Tis0 Tra (e71/ra — ~t/Trx)
scint@178nm) = (1 —g)K
dt ( @ )= ) Txx + Ti150 TAX (TTa—TTrx)




The XN and XQ spectra at the different Xe concentrations can be fitted

‘simultaneously’ with the dX—N and dXQ functions to extract the common

value of T4 and Try.

. : 1 1 ; .
A linear fit ofT— and e as a function of the Xenon concentration could
TA TX

allow to estimate estimate of T4x and Txx :
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—e— 1/tau?2 —y=15317 +0.18691x R=0.99108

—eo— 1/tau3d —y=0.68279 + 0.073093x R=0.99344

Very preliminay

(no errors included )
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